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4782 x 10 = 5.224 x 100000 =

7.103 x 1000000 = 3.562 x 10 =

1.77 x 10 = 2.975 x 1000 =
10.426 x 1000 = 3.797 x 100000 =
3.321 x 100000 = 2.318 x 1000000 =
6.33 x 100000 = 1.25 %10 =

3.723 x 100000 = 8.248 x 10 =
5.284 x 1000000 = 4.062 x 1000 =
5.483 x 100 = 6.227 x 10000 =
2523 x 10 = 2.499 x 10000 =
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4.782 x 10 = 47.82

7.103 x 1000000 = 7103000

1.77 x 10 = 17.7

10.426 x 1000 = 10426

3.321 x 100000 = 332100

6.33 x 100000 = 633000

3.723 x 100000 = 372300

5.284 x 1000000 = 5284000

5.483 x 100 = 548.3

2.523 x 10 = 25.23

=LA S

.
0.

5.224 x 100000 = 522400

3.562 x 10 = 35.62

2.975 x 1000 = 2975

3.797 x 100000 = 379700

2.318 x 1000000 = 2318000

1.25x10=12.5

8.248 x 10 = 82.48

4.062 x 1000 = 4062

6.227 x 10000 = 62270

2.499 x 10000 = 24990
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